UNIT 7
1

1 better 2 more comfortable 3 dirtier
4 slower 5 busier 6 more dangerous
7 bigger

1 Alfie thinks public transport is more
expensive than a car. / Alfie thinks a car
is cheaper than public transport.

2 Alfie thinks public transport is dirtier
than his car.

3 Tessa thinks cycling is more dangerous
than public transport.

4 Tessa thinks choosing the smartest way
to travel is more important than using
the quickest form of transport.

5 Troy thinks missing a bus is a bigger
problem than traffic. / Troy thinks
traffic is a smaller problem than
missing a bus.

1 The plane is faster than the bus.

2 The car is more comfortable than the
plane.

3 The train is more expensive than the bus.

4 The bus is slower than the car.

is the fastest

is the slowest

is the most expensive
is the cheapest

is the most comfortable
is the best
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1hot 2crowded 3fast 4&cheap
5noisy 6cold 7 comfortable
8 interesting

1empty 2slow 3 uncomfortable

4 boring 5quiet 6hot 7 expensive
8 fast 9interesting 10 cheap

11 crowded 12 noisy

1village 2forest 3river 4 market
5 mountain 6 hill 7 lake 8 building

4

mountain, village, forest, hill, building

1F 2T 3T 47T 5T 6T 7F 8F

1d 2f 3h 4e 5a 6c Tb
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43 1 ’s happening 2 Are they having 3 are
4 are they doing 5 are dancing 6 Are
Mum and Dad dancing 7 is 8 isn’t 9 s
talking 10 are laughing 11 is 12°’s
dancing 13 ’s giving 14 are they drinking
15 are drinking 16 isn’t drinking 17 Are
they eating 18 aren’t eating / 're not
eating 19 're sleeping 20 're Jooking

21 ’s coming




1. What was the last film you saw? - It was:
a) pretty woman"
b) " 1_|_1 "
c) the police academy"

2. What's your favourite film? What is it about? - My favourite film is:
a) "Skyfall”
b) " 50 shades of grey"”
c) "Eat. Pray. Love"

3. Who is your favourite film actor? - My favourite actor is:
a) Brad Pitt
b) Justin Timberlake
c) Ashton Kutcher

4.Do you like watching films at home or at the cinema? - I like watching
films at:

a) home
b) cinema



Ex. 4A

1. In an office, men usually are wearing
dark suits, ties and shoes, but now Sam
wears jeans, a T-shirt and ftrainers. He
isn't wearing a tie. Another problem is
that today he wears sunglasses and
most businessmen don't wear sunglasses
at work.



2. Walkers don’t usually wear a suit; they are
usually wearing trousers and walking
jackets. Today, Jenny wears boots, but her
boyfriend wears sandals — dangerous on a
country walk. Another problem is that he
doesn’t carry a backpack now, he is
carrying a suitcase!



